EARAROBEEIERT — 2 N— IBISH —F

2019558118 (£) SEIE#A7H

CAl R 3 REF GRA)

=]

HEE] B

(xwlw | lmEmml - |2 5) 20w 8

[A~&£] 1 7% 5,000,000  ~ 23 :2,000,000H 33 :1,300,000 " 43 :750,000 " ~ 5 j& :500,000

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- ME®ZE= 13, —7-2- . . SBAFE (ER)
111 TLgPe7z—0 [B] "8 S B Bt T A Py
LWN=—F—Yy T BIREFTZX—I Bl %=—
i o . 43 | IERHE 2:14.0 2-2-3-3 |35.3| 64.8 | 1 510 |fBOEN (RR)
2177 7b—bN=R2 56.0 2 1/2) (+g) | RIS
LN—E>Tv— B:YyLZLFTaY pzxie]
o R # o3 | dRR— 2:14.3 5-5-4-4 |35.3| 61.7 | 2 | 458 |AEHE (FH)
3 6| Ly FL1ib 56.0 @ (6) |, BB HRE-RL—22
T4 —TALINT N BiFARFT RIS HET7— L
S+ 3 | =X 2:14.5 1-1-1-1 | 36.1| 60.7 | 4 474 | BREE (FF)
4|5|5| £V S=EN [B] R 10 G2 | ) En7
L:bhwHiO—)— B:T7RIIYFv—L puliie ]
=55 4 3 | HAILEATE 2:15.0 3-3-4-4 |36.1| 55.8 | 5 490 | RESEME (ER)
] 4| ¥TTTLZ 6. 3 © |KEEE
RiFANTr—"9) B:Hra0-X T EAtE
LS N 4 3 | BEAS 2:16.3 9-8-8-6 |36.1| 42.8 | 8 512 | /NE—B (GEH)
6189 |HINTN 56.0 ®) 4y | BB JNREFL—HFT Ly KR
RL:T4 7 hT—ILEY B:I—-Y>AT FERS
. SpaEA : -8-5- Bl (R
2 oA Y7 ER 4 3 e 2.(136).8 8-8-8-9 |36.3| 38.4 | 6 (fﬁ) E.%('ﬂ‘/
:29)—>re—A— B:71—-FK=Z—% BT 7— L4
= == 4 3 | HPRE 2:18.9 6-6-7-8 |38.7| 25.8 | 9 470 |EESRME (BR)
sgh3| 77777 N 5.0 (1) o) |BEIA
R:T7yIT—L BNULLTRU— PB4
S . >S i3 | JIBERE 2:19.2 3-3-6-6 |39.4| 25.4 | 7 490 | AHUBA (FR®)
9/8lg| 77 I T 7 TF 56.0 (1 3/4) (-4) HEE
LTS IAAK BRFHRILLRE e
@ 71 L
) 47.3-35.2
NO>24 L | 12.6-11.4-13.0-12.8-12.6-12.2-11.7-12.1-11.6-11.4-12.2
® I —F—@EBIERL
13=7r= 5,7(4,8)6,3,1-2,9
20—+ — 5,7(4,8)6,3,1-(2,9)
30—7F— |5,1,7(4,6)-8-3(2,9)
43—7F— |5,1,7(4,6)=(8,9)3,2
[ RN
B OB 1 430M 714K 1-7 160M e & 1-7 480M &R 1-6-7 330M
8 B 1 110 1-6 200 B & 1-7 380 3B 1-7-6 2,160
7 110 6-7 160M B H 1-7 880
6 110

ABICOVWTRDTEEERROODE. TR LIV,




